TKEEX(RERRASAXTKE) ORERR CGEE)

Hik%: FEH (£%:FM)
EEREERBERR k085028218 EE FE| TREE ER28EE
B RRBERR FRR08E11H29R #2Un 2§ (B+E) A 1,353,718 1,336,994
FERAEAR 08404 H01H #ZE N (C+D) B 1,353,718 1,336,994
TR T KE SRR R ZDHh BRI [ 686,780 687,001
B A =X Bl Sm - HEA 686,780 687,001
BRR S =BIETS s | 5 | 2 [ mknEAES 0 0
BEE FHE 212 BHEIENE 0 0
EE  ———  EE| FRIER FHBERE EETVES D 666,038 649,093
ITEREEERAAD(N) A 964,830 966,154 5 teitEDE 585,270 570,695
BREHKREAAD (N) 70,416 70411 |45 5| EHZEREA 68,356 68,520
BRAELEXEAADN) B 70,416 70,411 = 4571 FIl 25 E 0 0
2 | ERE%) B/A 73 73| | & HWERGH) F 1,238,850 1,206,402
B | REKAERZEFAD(N) c 68,060 68,082 i FEEMHD G 1,238,850 1,206,402
R KA E (%) c/B 96.7 9.7 | = EXEHR H 832,790 817,493
B HERER (ha) 12881.0 12881.0) - BEH5E 0 0
B Pk EET (ha) 892.0 892.0 505 |2 [ =RIER 0 0
RENIEX S (ha) 892.0 892.0 5|5 BAT{E A 602,914 597,632
WEXE(FH) 32,036,790 32,071,513 EENER I 406,060 388,909
ERELIEEAGHEN 2,289,521 2,289,521 5] ZHIFIA 406,060 388,009
=z | b [ BEEEFMA 27,787,400 27,818,000 S J 0 0
x| M 2nEqEe(TH) 677,057 678,232 BEFREEEX) (B-G) 114,868 130,592
# | R zowEFm 1,282,812 1,285,760 HIF A (IR K) (A-F) 114,868 130,592
WOHRELEE (FH) 6,499,977 6,499,977 c EBEFHILLFvya-J0— 540,015 592,390
TKEMEBKIER (km) 283.00 28300 | L BREFYICESFryia-TJA— A 15,165 A 21,929
ARELE 0.000 0000 | = MEEBICLEFryia-To0— A 384,088 A 66,803
BRDEBH (B 0 of | #F| #EsoEmEXERI® 140,762 503,658
IR LI (KBS (m3/B) 0.0 0.0 BARBIRA K 502,953 487,632
BN [mEE(ma/5) 0.0 0.0 - EE 506,400 488,400
| PERA (X8 005 0.0 oo | |2 [ tesst@EAR 0 0
= IEKE [mxems/5) 0.0 0.0 i IEHiE% 2,430 1,175
1g [REEXETHNEKE M3/ H) 0.0 00 | BRI L 1,042,725 1,080,225
= |FRBNEKE (m3) 7,424,640.0 7,427,0400| | yp | > [ BS%EE 17,494 34,723
W [EKIEKE (m3) A 7,424,640.0 74270400 | % |5 | HEZEEES 1,025,231 1,045,502
R [FRARIEKE (m3) 0.0 0.0) X5 (K-L) M A 539,772 A 592593
FRIFIUKE (m3) B 7,424,640.0 7,427,040.0 HIERR N 537,572 585,193
AR (B/AX 100) (%) 100.0 100.0 BIERRT B EE (M+N) 2,200 7,400
| [MEERFIAE (%) - - EE&E 24,902,825 24,300,991
BKLEE 571,911 556,409 5] fEaaEE 32,240,065 32,198,815
5 [HEEEE 215,653 208,163 5| EEEIEEE(A) 7,340,592 7,900,919
% b | EXE 356,258 348,246 RBEE 488,689 737,310
4y [FRKLEER 0 0 & ReERUES 328,225 510,058
#|E 01t 598,583 581,473 E |5 [ RBRERCRIVRE 159,938 227,252
it 1,238,850 1,206,402 5 EEEIERACN) 0 0
KEF20m3/ A AR (A) 1,998 1,998 B 0 0
RITHEEEFEAB F k26404501 A | FRk26504501H RIEEE 0 0
iy [EAHEI (ML) 92.50 92.50) BESE 25,391,514 25,038,301
& | X2 032 e i (I §%) X1 77.03 74.92 EEaE 21,067,661 20,463,895
= 1mjéi 5g|ﬁﬁﬁij¥§(ﬂﬁ%) 29.05 28.03 - ERBEREOMBISKTHHORER 21,067,661 20,463,895
| EESAGE)) 47.98 4689 2 [ eEmansonm ATsLhORBEAS 0 0
o . e ) EIEES 0 0
2| |emuns EER h kAR RER K RB AR 1,048,158 1,106,184
HEHERFOMRRTHHOLEE 1,045,502 1,092,166
SaE £183 (%) 0.0 34 |, - REHRRFOHRITTH-HOOEMEAS 0 0
fime |miYEE(F) 230 30| |H |2 [ EEe 0 0
 aEstIERAEAR F 2084038198 | FRL08E03H 198 ;‘ —BEAR 0 0
B | BEEEREBS (A) 0 o |m FIERUKRLER 2,656 14,018
8 | BEFAMEMEBA (N 0 o | % TR I 2,985,745 2,932,812
B OHW 0 0 5 Efiizs 3,787,680 3,801,819
LEEBRASASH 585,270 570,695 5| RESIZSREERTEA) 801,935 869,007
#2155 IRIEENERRA S 585,270 570,695 B8EaE 25,101,564 24,502,891
AlB SHEERNEBAR 50,882 48,327 X 55,570 55,570
£|5 BEXRMEBRAE 0 0 FRE 234,380 479,840
5 SHEERNEAS 0 0 & BEXRFRE 312,301 312,301
BEHKEE 0.0 0.0 %=|3 FEF RS A 77,921 167,539
#A| ZIFIR 3238 32.2 5135 LEEXRLDFBEFRE 0 167,539
o RmEE 487 495 5L LHEERNBRES(A) 77,921 0
*) ERE 1.7 1.7 BEAREE 289,950 535,410
Z D4t X2 16.8 16.5 BRI LE 0 0
BOEARERLILE 12.9 139 3| B55|14% 0 0
B 46.6 66.7 ERR i FEES 0 0
BEIREILE 109.3 110.8 €| HABHEsILE 0 0
ERRTE 825 84.0 D5 LS 0 0
[ ApEEEERmERNE 228 245 TRES 0 0
ij FEEEURE 120.1 1235 EEEET R 0 0
*ﬁ BERIBELEE 1.3 - TEBRES 22,113,163 21,556,061
(W | TREBLE - - X HRERE 1,678,661 1,688,995
TEEEETE 149.3 152.2
HewAl | EEERHS 59.1 56.6
HIBEE | AEETHEES 208.4 208.8
BEHRE#E 0.0 0.0
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TKEEX(RERRASAXTKE) ORERR CGEE)

Hik%: £&8H (£%:FM)
EEREERBERR FAFN624 128218 EE FE| TREE ER28EE
B RRBERR FR02409H01 8 #2Un 2§ (B+E) A 56,091 56,058
FERAEAR Fpi26%04H018 #ZE N (C+D) B 56,091 56,058
TR T KE SRR R IR KBS i BRI [ 36,277 36,256
B A =X Bl Sm - HEA 36,268 36,249
BRR S EBIEE s | 5 | 2 [ mknEAES 0 0
EEE FE 212 ZRIENE 0 0
EE o ——— EE| FHI&E TERBEE EETNES D 19,814 19,802
ITHREEHNAD(AN) A 176,976 176,518 5 theitEn: 563 558
BREHKREAAD (N) 1,561 1568| | 15 5| EHZEREA 19,244 19,239
BRAELEXEAADN) B 1,561 1,568 | 2§ 4571 FIl 25 E 0 0
2 | ERE(%) B/A 0.9 09| | & [ #MEBEAGH) F 56,091 56,058
B | REKAERZEFAD(N) c 902 923 i FEEMHD G 56,067 56,032
R KA E (%) c/B 57.8 589 = EXEHR H 52,198 52,079
B HERER (ha) 1812.0 1845.0) - BEH5E 785 785
B Pk RIS E TR (ha) 520 52.0 505 |2 [ =RIER 0 0
RENIEX S (ha) 52.0 52.0 5|5 BAT{E A 42,748 42,738
WEXE(FH) 1,907,914 1,907,914 EENER i 3,869 3,953
ERELIEEAGHEN 82,000 82,000 56 ZILFIE 3,814 3617
=z | b [ BEEEFMA 319,647 319,647 S J 24 26
x| M 2nEqEe(TH) 164,929 164,929 BEFREEEX) (B-G) 24 26
# | R zowEFm 1,341,338 1,341,338 R () (A-F) 0 0
WOHRELEE (FH) 1,496,000 1,496,000 c EBEFHILLFvya-J0— 10,058 10,255
TKEMEBKIER (km) 22.00 2200 | F BEEHICLDFryia-TJa— 0 0
ARELE 0.000 0000 | = MEEBICLEFryia-To0— A 10,058 A 10,255
RRAIEIS K (BT 0 of | #F| #EsoEmEXERI® 0 0
IR LI (KBS (m3/B) 0.0 0.0 BARBIRA K 6 6
BN [mEE(ma/5) 0.0 0.0 R TEE 0 0
m WERK [HXE (m3/B) 469.0 469.0| | . Z fthREHEAE 0 0
B [LEKE [mxm /%) 00 oo |& I=8ES 0 0
1g [REEXETHNEKE M3/ H) 405.0 405.0 ;’; BRI L 10,058 10,255
= |FRBNEKE (m3) 150,570.0 150570.0| | yg | 5 | BR®BEE 0 0
M [[BARMEKE (m3) A 150,570.0 1505700| | % |5 [ & ZEEES 10,058 10,255
R [FRARIEKE (m3) 0.0 0.0) X5 (K-L) M A 10,052 A 10,249
FRIFIUKE (m3) B 122,086.0 122,574.0 HIERR N 10,052 10,249
AHUNE (B/A % 100) (%) 81.1 81.4 HIERRT B 58 (M+N) 0 0
| [MEERFIAE (%) - - EE&E 1,494,874 1,465,104
BKLEE 36,077 36,050 5] fEaaEE 1,520,249 1,520,249
5 [HEEEE 9,011 9,187 5| EEEIEEE(A) 85,496 128,234
% b | EXE 27,066 26,863 RBEE 11,124 11,568
4y [FRKLEER 0 0 & BERUES 0 0
#|E 01t 747 743 E |5 [ RBRERCRIVRE 11,141 11,568
it 56,067 56,032 5 EHEEEIN) 17 0
KEF20m3/ A AR (A) 1,825 1,825 B 0 0
RITHEEEFEAB FRk064E10501 A | FRK064E10501H RIEEE 0 0
iy [EAHEI (ML) 297.07 295.73 BESE 1,505,998 1,476,672
& | X2 032 e i (I §%) X1 295.50 294.11 EEaE 175,998 165,345
= 1mjéi 5g|ﬁﬁﬁij¥§(ﬂﬁ%) 73.81 74.95 _ BRARRBEOMBICKTROOLEE 175,998 165,345
| EESAGE)) 221.70 219.16 2 [ eEmansonm ATsLhORBEAS 0 0
EIEES 0 0
& ERFAR REEH R EEH RiEH nBaE 10,962 11,568
HEHERFOMRRTHHOLEE 10,057 10,456
SaE BS1EER (%) 0.0 61l .. |&]5 BRNARZOMRIKTHODEMEAS 0 0
fime |miYEE(F) 0 ses| |H || 2 [ Eme 107 99
 aEstIERAEAR F 044038318 | FRL04403H318 ;‘ —BEAR 0 0
B | BEEEREBS (A) 1 1 | m FIERUKRLER 798 1013
8 | BEFAMEMEBA (N 0 o | % TR I 927,460 908,221
B OHW 1 1 51 EEm=s 965,947 965,947
LEERAREE 563 558 5| EHRZEREREE(A) 38,487 57,726
#2155 IRIEENERRA S 563 558 B8EaE 1,114,420 1,085,134
AlB SHEERNEAS 563 558 EAXE 386,849 386,849
&[5 BXBEBAS 0 0 5% 4,729 4,689
5 SHEENEBAR 0 0 % EXREIRS 4,729 4,689
BEHKEE 14 1.4 x| 3 | _HEHRS 0 0
#A| ZIFIR 6.8 6.5 5135 LEEXRLDFBEFRE 0 0
o RmEE 76.2 76.3 5L LHEERNBRES(A) 0 0
) ERE 04 0.4 BEAREE 391,578 391,538
Z D X2 15.1 15.4 BRI LE 0 0
BOEARERLILE 87.6 88.0) 3| B55|14% 107 99
B 101.5 100.0 ERR i FEES 0 0
BEIREILE 100.0 100.0) €| HABHEsILE 0 0
ERRTE 69.5 69.6 D5 LS 0 0
[ ApEEEERmERNE 56 8.4 TRES 0 0
i’f BEEIRE 1005 1006 SEASTEH 0 9
H | RERESER - — TEBRES 186,055 175,801
(W | TREBLE - - X HRERE 27,886 23,575
TEEEETE 27.7 28.3
HewAl | EEERHS 105 10.0
HIBEE | AEETHEES 382 383
BEHRE#E 22 2.2
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TKEEX(RERRASAXTKE) ORERR CGEE)

Hik%: #am (£%:FM)
EEREERBERR k034048018 EE FE| TREE ER28EE
B RRBERR FR07403A318 #2Un 2§ (B+E) A 98,858 88,423
FERAEAR Fpi26%04H018 #ZE N (C+D) B 98,858 88,423
TR T KE SRR R IR KBS i BRI c 75,643 71,764
B A =X Bl Sm - HEA 75,643 71,764
BRR S =BIETS s | 5 | 2 [ mknEAES 0 0
BEE FHE 212 BHEIENE 0 0
EE o ——— EE| FHI&E TERBEE EETNES D 23215 16,659
TREEBRAD(A) A 410,033 413,657 5 theitEn: 10,461 767
BREHKREAAD (N) 1,556 1647 |48 5| EHZEREA 12,708 15,892
BRAELEXEAADN) B 1,556 1,647 | 25 4571 FIl 25 E 0 0
2 | ERE%) B/A 04 04| | &t #EF (G+J) F 53,556 54,740
B | REKAERZEFAD(N) c 1,556 1,647 i FEEMHD G 53,556 54,740
R KL (%) c/B 100.0 1000| [ = EEEA H 46,217 48,156
B HERER (ha) 3970.0 3970.0 .| BE®ER 0 0
B Pk EET (ha) 144.0 1440 505 |2 [ =RIER 0 0
RENIEX S (ha) 144.0 144.0 5|5 BAT{E A 20,388 26,458
WEXE(FH) 1,668,481 1,680,349 EENER i 7,339 6,584
ERELIEEAGHEN 587,000 587,000 56 ZILFIE 7,107 6,584
=z | b [ BEEEFMA 627,600 627,600 S J 0 0
x| M 2nEqEe(TH) 103,791 103,791 BEFREEEX) (B-G) 45,302 33,683
# | R zowEFm 350,090 361,958 HIF A (IR K) (A-F) 45,302 33,683
WOHRELEE (FH) 1,174,000 1,174,000 c EBEFHILLFvya-J0— 124,286 46,133
TKEMEBKIER (km) 9.00 900 | B BREFYICESFryia-TJA— A 6,076 A 11,327
ARELE 0.000 0000 | = MEEBICLEFryia-To0— A 21,931 11,868
BRDEBH (B 0 of | #F| #EsoEmEXERI® 96,279 46,674
IR LI (KBS (m3/B) 0.0 0.0 BARBIRA K 25,073 34,320
BN [mEE(ma/5) 0.0 0.0 - TEE 0 0
m BERK [EXE(m3/B) 155,463.0 135,162.0 | Z hEFHEAS 25,073 34,320
B [LEKE [mxm /%) 0.0 oo |& I=8ES 0 0
1g [REEXETHNEKE M3/ H) 130,531.0 118,887.0 ;’; BRI L 28,124 34,320
= |FRBNEKE (m3) 366,980.0 3425700 | yg | S [ BS%EE 6,193 11,868
W [EKIEKE (m3) A 366,980.0 3425700 | % [ B | SZEEES 21,931 22,452
R [FRARIEKE (m3) 0.0 0.0 IRZE5| (K-L) M A 3,051 0
FRIFIUKE (m3) B 297,136.0 283,052.0 HIERR N 3,051 0
AHUNE (B/A % 100) (%) 81.0 82.6 HIERRT B 58 (M+N) 0 0
| [MEERFIAE (%) - - EE&E 1,268,223 947,765
BKLEE 34,085 38,222 5] fEaaEE 779,801 1,027,499
5 [HEEEE 19,365 21,138 5| EEEIEEE(A) 40,777 79,734
% b | EXE 14,720 17,084 RBEE 133,300 152,876
4y [FRKLEER 0 0 & ReERUES 126,036 149,036
#|E 01t 6,763 626 E |5 [ RBRERCRIVRE 7,488 6,086
&t 53,556 54,740 SEECEEEINS 224 2,246
KEF20m3/ A AR (A) 2,314 2,314 B 0 0
RITHEEEFEAB F k24405801 B | FRk24405501H RIEEE 0 0
iy [EAHEI (ML) 254.57 25354 BESE 1,401,523 1,100,641
& | X2 032 e i (I §%) X1 114.71 135.04 EEaE 286,763 263,709
= 1mjéi 5g|ﬁﬁﬁij¥§(ﬂﬁ%) 65.17 74.68 - ERBEREOMBISKTHHORER 282,938 260,339
| EESAGE)) 4954 60.36 2 [ eEmansonm ATsLhORBEAS 0 0
% EIEES 913 846
ERFAR REEH R EEH RiEH nBaE 24,693 24,667
HEHERFOMRRTHHOLEE 22,064 22,599
SaE BS1EER (%) 0.0 ool .. l&]5 BRNARZOMRIKTHODEMEAS 0 0
fime |miYEE(F) 700 700 | B || 2 [Eime 965 404
 aEstIERAEAR RRF1564£03 5 208 | BBF1564E03 5 208 ;J‘ —BEAS 0 0
B | BEEEREBS (A) 0 o |m FIERUKRLER 1,276 1,276
8 | BEFAMEMEBA (N 1 INES TR I 463,066 421812
B HW 1 1 5] EEzs 488,483 445437
LEERAREE 35,534 35,087 5| EHRZEREREE(A) 25417 23,625
#®) > IRIEENERRA S 10,461 767 B8EaE 774,522 710,188
AlB SHEERNEBAR 4,990 595 X 540,516 356,770)
£|5 BEXRMEBRAE 25,073 34,320 FRE 86,485 33,683
5 SHEENEBAR 47 49 - EXREIRS 0 0
BEHKEE 0.0 0.0 %=|3 FEF RS 86,485 33,683
#R| XIAE 13.3 12.0 5135 LEERLOFRFERE 86,485 33,683
o RmEE 38.1 483 5L LHEERNBRES(A) 0 0
) ERE 0.0 0.0 BEAREE 627,001 390,453
Z D X2 48.7 39.6 BRI LE 1,251 912
BOEARERLILE 718 738 3| B55|14% 627 338
B 539.8 619.8 ERR i FEES 0 0
BEIREILE 184.6 1615 €| HABHEsILE 0 0
ERRTE 163.7 149.0 D5 LS 0 0
[ ApEEEERmERNE 52 78 TRES 0 0
B amnE 2219 1878 EHASTRE 0 0
| RERESEE = -| [(EEEEE 308,302 285,850
(W | TREBLE - - X HRERE 61,202 62,602
TEEEETE 29.0 31.3
wepAlz | EEEFME 9.4 9.2
HIBEE | AEETHEES 384 405
BEHRE#E 0.0 0.0
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TKEEX(RERRASAXTKE) ORERR CGEE)

k4% B4 FHET (&% FM)
EEREERBERR FAF152404 5018 EE FE| TREE FERk28EE
B RRBERR F*157407H01H #2Un 2§ (B+E) A 71,963 76,575
FERAEAR Fpi26%04H018 #ZE N (C+D) B 71,963 76,575
TR T KE SRR R IR KBS i BRI c 62,797 67,156
B A =X Bl Sm - HEA 62,243 66,567
BRARS =BT s | 5 | 2 [ mknEAES 472 518
BEE FHE 212 BHEIENE 0 0
EE  ———  EE| FRIER TERBEE EETVES D 9,166 9,419
ITEREEERAAD(N) A 21,189 21,105 5 teitEDE 259 205
BREHKREAAD (N) 893 897| |45 5| EHZEREA 8,906 9,192
BRAELEXEAADN) B 893 897| | # 4571 FIl 25 E 0 0
2 | ERE(%) B/A 42 43| | & [ #EBAGH) F 77,889 80,888
B | REKAERZEFAD(N) c 808 812 i FEEAHH) G 77,889 80,888
R KA E (%) c/B 90.5 905 | = EXEHR H 74,320 717,632
B HERER (ha) 153.0 153.0 - BEH5E 1,374 1,166
B Pk RIS E TR (ha) 910 91.0 505 |2 [ =RIER 0 0
RENIEX S (ha) 91.0 91.0 5|5 BAT{E A 43,990 45,151
WEXE(FH) 1,741,456 1,782,306 EENER i 3,569 3,256
ERELIEEAGHEN 263,533 276,834 56 ZILFIE 3,569 3,256
=z | b [ BEEEFMA 271,161 271,161 S J 0 0
x| M 2nEqEe(TH) 21,886 21,886 BEFREEEX) (B-G) A 5926 A 4313
# | R zowEFm 1,184,876 1,212,425 HIF A (IR K) (A-F) A 5926 A 4313
WOHRELEE (FH) 469,540 495,313 c EBEFHILLFvya-J0— 30,106 36,343
TKEMEBKIER (km) 11.00 100 | & BREFYICESFryia-TJA— A 4937 A 9,418
ARELE 0.000 0000 | = MEEBICLEFryia-To0— A 12,617 A 15,019
BRDEBH (B 0 of | #F| #EsoEmEXERI® 12,552 11,906
IR LI (KBS (m3/B) 0.0 0.0 BARBIRA K 79,889 35,454
BN [mEE(ma/5) 0.0 0.0 - TEE 18,561 0
m BERK [EXE(m3/B) 7,947.0 76820] | Z hEFHEAS 29,848 20,308
B [LEKE [mxm /%) 0.0 oo |& I=8ES 9.415 0
1g [REEXETHNEKE M3/ H) 6,870.0 6,865.0 ;’; BRI L 83,440 52,484
= |FRBNEKE (m3) 346,919.0 367,3820( |y | 5 | BR®BEE 74,114 42,688
W [EKIEKE (m3) A 346,919.0 3673820 | % |5 | SZEEES 9,326 9,796
R [FRARIEKE (m3) 0.0 0.0) X5 (K-L) M A 3,551 A 17,030
FRIFIUKE (m3) B 281,377.0 309,043.0 HIERR N 3,551 17,030
AUNE (B/A % 100) (%) 81.1 84.1 FHIEEBA IR T R 2R (M+N) 0 0
| [MEERFIAE (%) - - EE&E 1,420,973 1,433,612
BKLEE 46,656 51,468 5] fEaaEE 1,202,708 1,243,243
5 [HEEEE 3,403 3,625 5| EEEIEEE(A) 87,981 135,188
% b | EXE 43,253 47,843 RBEE 48,369 60,244
4y [FRKLEER 1,005 1,082 & BERUES 37,654 50,440
#|E 01t 29,083 28,338 E |5 [ RBRERCRIVRE 6,246 3,909
it 77,889 80,888 5 EEEIERACN) 0 0
KEF20m3/ A AR (A) 2,163 2,163 B 0 0
RITHEEEFEAB FRk094£06 501 A | FAK09E06 501 H RIEEE 0 0
iy [EAHEI (ML) 221.21 215.40 BESE 1,469,342 1,493,856
& | X2 032 e i (I §%) X1 165.81 166.54 EEaE 128,866 128,977
= 1mjéi 5g|ﬁﬁﬁij¥§(ﬂﬁ%) 12.09 11.73 - ERBEREOMBISKTHHORER 128,853 128,957
| EESAGE)) 153.72 154.81 2 [ eEmansonm ATsLhORBEAS 0 0
o . e - EIEES 13 20
2| emann REG RER E (EEM RES X ABAMR 13,067 16,526
BRURBSOHMRICKTI-HOLER 0 0|
SaE BS1EER (%) 0.0 ool .. l&]5 BRNARZOMRIKTHODEMEAS 0 0
fime |miYEE(F) 316 g | H |2 [ EEe 114 105
 aEstIERAEAR F 202404 5018 | 024045018 ;‘ —BEAR 0 0
B | BEEEREBS (A) 1 1 | m FIERUKRLER 7977 12,007
8 | BEFAMEMEBA (N 1 INES TR I 342,664 287,330
B OHW 2 2 5 Efiizs 360,477 314,751
LERBARGH 30579 21,031 5| EHIZSRSERTEA) 17,813 27,421
#2155 IRIEENERRA S 731 723 B8EaE 484,597 431,833
AlB SHEERNEAS 731 723 EAXE 988,175 1,063,781
£|5 BEXRMEBRAE 29,848 20,308 FRE A 3,430 A 1,758
5 SHEENEBAR 943 996 - EXREIRS 2,496 2,555
BEHKEE 18 1.4 %=|3 FEF RS A 5926 A 4313
#A| ZIFIR 46 4.0 5135 LEEXRLDFBEFRE 0 0
o RmEE 56.5 55.8 5L LHEERNBRES(A) 5.926 4,313
) ERE 0.0 0.2 BEAREE 984,745 1,062,023
Z D4t X2 37.2 385 BRI LE 0 0
BOEARERLILE 90.3 90.3 3| B55|14% 114 105
B 370.2 388.0 ERR i FEES 0 0
BEIREILE 92.4 94.7 €| HABHEsILE 0 0
ERRTE 84.5 86.5 kA LEIEES 13 20
[ ApEEEERmERNE 73 10.9 TRES 0 0
i’% FEEEURE 133.4 129.3 EEEETEEE 0 0
;’ﬁ BERIBELEE 9.4 6.4 TEBRES 128,853 128,957
(W | TREBLE - - X HRERE 121,112 95,797
TEEEETE 15.0 14.7
wepAlz | EEEFME 5.7 4.9
HIBEE | AEETHEES 20.7 19.6
BEHRE#E 22 1.8
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